
 
 
 
No robust standard errors are reported 
 
If one or more of the degrees of freedom falls below 20, the robust standard errors are not printed, as robust 
standard errors are not computable in this situation. It may happen that, in a set of nested models, the robust 
standard errors may be available for the first, simpler model but not for the second. In that case, it is probably 
related to the relatively small number of level 2 groups, as the degrees of freedom changes from model to 
model, depending on coefficients added to a second model.  There may be a collinearity or multicollinearity 
problem in the matrix used to compute the standard errors.  It is possible that this matrix is singular or not 
positive-definite (i.e. 0 or negative diagonals, which is where the standard errors come from). 
 


